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PAU-16080001050601 Seat No.
B. Com. (Sem. V) (CBCS) Examination
October / November - 2018

Management Accounting - I
(New Course)

Time : 2% Hours] [Total Marks : 70

qasil : (1) el ougel »is waddl el suld 8.
(2) %32 ¥Rua Al ARLAT 2 WELs0L % - d walel WA sulaal.

1 dud Su+dl Rl dl. 31-3-2016 24 dl. 31-3-20171 A%+l 20
ulsl A3AUL (1A Yool gdl

gaeield>l | 31-3-16 31-3-17 | Brasdl 31-3-16| 31-3-17
NECRE wlve-doll 1,60,000 | 2,00,000
3. 10+l dal g dl -| 10,000
yel (iuls A| 2,25,000( 3,00,000 | ¥si- 1,25,000| 1,10,000
ALHL el 1,20,000| 1,20,000
™ 80,000 90,000 | galelrl 70,000 55,000
.. viid 30,000 35,000 | Ass as 10,000| 20,000
65 it 80,000| 10,000 | &% [(Mes -1 22,000
ul. 3 15,000 22,000 | Miefs vl 5,000 3,000
yRd R 9,000 15,000
aslelRl 26,000| 33,000
EREEIE|
ALl 25,000| 35,000
4,90,000]| 5,40,000 4,90,000 | 5,40,000
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agil wledl :

(1)

a¥ 2015-16+{l sl waseldl 3. 20,000 <55l Al sdl. %
ysoll sl vdl. s3] A2AALSHAL QHIRL AU AeilMd vild
ad wAUML LAl 8dl.

wey Suldl (Hasdl 3. 75,00041 vidlsani 2udl edl. ¥+l
ysaell yel euld 9.2 gl sl 2dl sdl. 1Al Brasdl
wledlui Al edl :

W2 = U2 e 3. 30,000
RS e 3. 30,000
3. 35,000+ ¥l A53YL widlealmi il sdl.

wWire-doll UR 3. 15,000 AR Hil Al dl. A s Yol
AYdl 3. 2,000 dsAl AAE. ¥ UMY AHd vild 1 Aoy

8.
3. 5,000 aduoud Rlazs ysaf 8.

GUASA HIRsd] vl Ay Rl U3 HAN MAls Urls ddlR $3.

Yal
A 20a Al R wst AU oA 2, MRl wrell ¥3d 20
dHIH Al AR HAN UAle Yals oAl ¢
galoeld] »il dl. 31-3-16 | dl. 31-3-17

3. 3.

Slsadl A4 3,00,000 4,00,000
AL 24 80,000 1,00,000
.. vl 30,000 50,000
1571 R6i-=d 1,50,000 1,00,000
EEERIE | RTCTES) 50,000 40,000
ARLelR) 90,000 70,000
S ERRNERY 30,000 40,000
7,30,000 8,00,000
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Bresdl dl. 31-3-16 | dl. 31-3-17
3. 3.

uledl 1,00,000 90,000
wlr2-H Q7] 2,98,000 4,29,250
A ETN 1,00,000 60,000
R\ 50,000 80,000
UYRRL BALEIRL 1,60,000 1,10,000
As3fols as 10,000 20,000
UGl Ysdal vl 4,000 5,750
Ro{xr qala 8,000 5,000
7,30,000 8,00,000

aqlil wledl :

(1) 3. 50,000l 4o BHds dst (¥ sl eie Bud 3. 20,000

edl.) Ad 3. 35,0004 QAL Y.

(2) 3. 10,0000 3 Buds 4= (¥ sRiens BHd 3. 3,000

ecdl.) an 51l Al e,

(8) wlre-4alldd] vildlMi 15%l €3 HAIR 2RlaHl ) 8.

(4) a¥ e 3. 45,000 2UA5A YsAL.

(5) 15%L ROA 5%AL MIMuA yd sul.

(6) sl Audl 3. 10,0000 <15l 234 B.
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2 uyd Su-ll 6l UsRAL sUMIad Basiel 3R s drge Geuled 20

-

5360, s1AL WA 19 (AL UHIBL 55l SAML 2L O

QAL wyel Braei-i Beal €ls wael ela

A 35% 3. 500
B 65% 3. 700

Gauler UBAIML elUvd $3e VUsHIAL 7.5% 82 UL €.

WA 201741 H8AL el3uq A [adl wa &

AU VIV qYRAL Bel €ls wvR euqa
A 320 [3al 3. 450
B 680 [(3dl 3. 750

wiRl WA e R 962 Bel dulR drdd Geuwls 4y,
A4 Rua-dl Al sel

(1) e vl Raad

(2) Mt eud [Radd

(3) Mt quue Radd

(4) waumit Bsel Raasd

(5) *aamii Guy [aas

Ydl
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2 (a) A sudl LA DAA Rl udl oA 10
(1) slauMd vl R
(2) waanH Mewl R
wyILL BV
YA ose8)) ald | %Rl | euq
(ed) | 3. | (Be)) | 3.
X 600 8 720 9
Y 400 6 420 5
A 200 7 300 10
() DAl 261aui 38 dRiddx 530 vedi 2issl 0
2og ¥l qul :
wHIRL [uAeL | WA [ uRvR | wa- | wa- | wa-
ogeel | (3d | auua | Bud | i | anuq | aeu-
azq | ((3.20.) | Boau [(Boaw.) (B | vl | Bud | Quw
£ls eld | Raaq | [Qaaqd | [Qaaq
3. 3. 3. 3.
A 1400 21 1540 - (-)2695
B 1050 14 910 - (01225
C 1750 |17.50 - 15.75 - (-)3675
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3 M Al QA Hledl vl 04l

(1)

R v [uan

(2) w9R e [Muad

(3) #oRr slamdl Raad

(4) H9R Mawl [Raan
HyR saLsl saLsels e 3.
WS uHIBL WV wyIRL BIR
o105 480 504 3.00 3.00
2| 960 1200 2.00 1.80
Y3y 600 560 4.00 5.00

YL

3 Uludl [, 2 A6 deR 5054 40 sAURAHL YA sqU-L 6.

15

15

L 6L YL SIHEIRL 2 dMHL ddd el [awdl A wmeL o

oL SIHEIRAAL USIR

sua wdguan | R gaa
wHIgL :
sl AvyL 40 50 60
AlRs UHIRL &R 3. 50 3. 40 3. 30
VIR
siHelRAAL Aval 45 35 80
RS WIUR €R 3. 60 3. 50 3. 40

Aol w6l 505 A 45 wsAlRUML YA ScUHL VI,
Hodl vl [aEH ol
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4 2wy [l QA Hlkdl woaa ©

ay WidR 3. sl 3.
2016 90,000 10,000
2017 1,06,000 14,000

Guadl [otd vl lAA %aler 2Rl :

1) sl ARl (P.V. deixr)

2

3

5

6

R wal

AU [blg

qeddlAl oue (2017 HR)

2Yql

(

(2)

(3)

(4) o Qael 3. 90,000 €14 AU 8l
(5) 3. 20,000 -8l s¥laql W2 %33 dael
(6)

15

4 AL LA X AR Y axgel Gauled i3] AL il il 8. 15
ol GAUledHl 5 AL USIRAL HIAAMIE QUjAL 8

RN AQq-X aQxq-Y
wsHEls 3. | Asudls 3.

el Bud 150 240

e Hlaumid (Ba€ls 3. 7.50) 45 90

wca vyl (saus €ls 3. 4) 30 54

YR ue w3 15 24

sa R s A 3. 90,000

sl L ALdl3u ulRet 8. dd Yl % $5d 60,000 Bal siHIE
Ul 4 AF dH €A A i UsIR+{l Al ayHl 9y 6,000 5Kl
ALl =4 AS dY S1A dl ol UslRl ardd Geuledt 32 324 539 AN

5 ol ayui ay sl W s3A0 asi ?
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Instructions :

ENGLISH VERSION

(1)
2)

be shown with relevant answer.

Figures to the right side indicate marks.

Calculations and explanations if required are to

1  The Balance Sheets of “Sanyam Company Ltd.” as on 20
31-3-2016 and 31-3-2017 were as follows :
Liabilities 31-3-16 31-3-17| Assets 31-3-16 | 31-3-17
Share capital: Plant -
Shares of Machinery | 1,60,000| 2,00,000
Rs. 10 each Goodwill 10,000
fully paid up | 2,25,000( 3,00,000 | Building 1,25,000| 1,10,000
General Stock 1,20,000| 1,20,000
Reserve 80,000 90,000 | Debtors 70,000 55,000
P&L Alc 30,000 35,000 [ Cash balance 10,000 20,000
Bank Loan 80,000 10,000 | Bank balance 22,000
Pro. fund 15,000 22,000 | Preliminary
Proposed Exp. 5,000 3,000
dividend 9,000 15,000
Creditors 26,000 33,000
Tax.
provision 25,000 35,000
4,90,000( 5,40,000 4,90,000 ( 5,40,000
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Additional Information :

(1)

2)

3
(4)

®)

The liability of income tax as decided was settled
for Rs. 20,000 for the year 2015-16, was paid. The
remaining provision of income tax was taken into

general reserve.

Property of other company was bought at Rs. 75,000,
whose payment was done by fully paid shares. The
following property have been bought :

Plant - Machinery ............... Rs. 30,000

Machinery of Rs. 35,000 was bought on cash.

Depreciation of Rs. 15,000 was written off on plant-
machinery, and as one machine was sold at a loss of

Rs. 2,000, was written off for general reserve.
Interim dividend of Rs. 5,000 paid.

From the above information, prepare “Fund Flow

Statement” in the book of Sanyam Company Ltd.

OR

From the following Balance Sheets of Saloni 1td, and

other informations, prepare fund flow statement with

necessary related accounts :

Liabilities 31-3-16 31-3-17
Rs. Rs.

Equity share capital 3,00,000 4,00,000
General Reserve 80,000 1,00,000
P&L Alc 30,000 50,000
15% Debentures 1,50,000 1,00,000
Provision for income tax 50,000 40,000
Creditors 90,000 70,000
Proposed dividend 30,000 40,000
7,30,000 8,00,000

20
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Assets 31-3-16 31-3-17
Rs. Rs.

Goodwill 1,00,000 90,000
Plant - Machinery 2,98,000 4,29,250
Investments 1,00,000 60,000
Stock 50,000 80,000
Sundry Debtors 1,60,000 1,10,000
Cash / Bank balance 10,000 20,000
Prepaid expenses 4,000 5,750
Debenture discount 8,000 5,000
7,30,000 8,00,000

Other Informations :

(1) A machine costing Rs.
Rs. 20,000) have been sold for Rs. 35,000.

50,000 (depreciated value

(2) A machine costing Rs. 10,000 (Written down value
Rs. 3,000) have been discaded.

(3) 15% depreciation has been charged in the accounts on

plant and machinery.

(4) Rs. 45,000 income tax has been paid during the year.

(5) 15% debentures have been redeemed at 5% premium.

(6) Rs. 10,000 profit has been earned from sale of

investments.
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2 Prasoon Co. by mixing two types of raw-materials, 20
manufacture on item. The standard of the raw-materials is
decided as follows :

Materials Of Standard Standard Rate
mix Per kg.
A 35% Rs. 500
B 65% Rs. 700
There is a loss of 7.5% on the units of the production process
entered.
We get the following details during the month of March-
2017.
Materials Actual Actual Rate
Usage Per kg.
A 320 kgs. Rs. 450
B 680 kgs. Rs. 750
In the month of March the actual production of finished
goods 1s 962 kgs.
Find out following variances :
(1) Material cost variance
(2) Material price variance
(3) Material usage variance
(4) Material mix variance
(5) Material yield variance
OR
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2 (a) Find out from following informations of Aarav Co. 10

Itd. "
(1) Material cost variance

(2) Material mix variance

Standard Actual

Material Qty |Price | Qty | Price
(Kg) Rs. (Kg) Rs.

X 600 8 720 9
Y 400 6 420 5
Z 200 7 300 10

(b) Rewrite the following table filling the blanks with 10

missing figures, show necessary calculations :

Stan- | Stan- |Actual | Actual | Mate- | Mate- | Mate-
dard | dard Use Price rial rial rial
Price usage

Mate-| Qty. (Rs.) | (Kgs.) | per kg | cost | price | varia-

rial | (Kgs.) (Rs.) | varia- | varia- | nce
nce nce (Rs.)
(Rs.) | (Rs.)

A 1400 21 1540 - - (-)2695 -

B 1050 14 910 - (—-)1225 - -

C 1750 | 17.50 - 15.75 - - (-)3675
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3  Find out, from following informations of Aayam ltd. : 15
(1) Labour Cost variance
(2) Labour Rate variance
(3) Labour Efficiency variance
(4) Labour Mix variance
Types Hours Rate per hour Rs.
of Standard | Actual | Standard | Actual
Labour
Child 480 504 3.00 3.00
Women 960 1200 2.00 1.80
Men 600 560 4.00 5.00
OR
3  Ashita Itd is supposed to complete a job no. 555 in 15
40 weeks. The workers of the job and their wages details
are as follows :
Particulars Types of workers
Skilled Semi- | Un-skilled
Skilled
Standard :
No. of workers 40 50 60
Weekly standard
Rate Rs. 50 40 30
Actual :
No. of workers 45 35 80
Weekly Actual
Rate Rs. 60 50 40
Job no. 505 i1s completed in 45 weeks.
Calculate the labour variance.
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4

Following informations is obtained from Ajay Ltd. : 15
Year Cost Profit
Rs. Rs.
2016 90,000 10,000
2017 1,06,000 14,000
From the above mentioned informations calculate :
(1) Profit Volume Ratio (P.V. Ratio)
(2) Fixed Expenses
(3) Break Even Point
(4) Profit where sales are Rs. 90,000
(5) Sales to earn profit of Rs. 20,000
(6) Margin of safety (for 2017)
OR
The details relating to production of “X” and “Y” of 15
Archana Itd, are given below. Identical material is used
in production of both the products :
Particulars Product X | Product Y
per unit per unit
Rs. Rs.
Selling price 150 240
Direct Material
(Rs. 7.50 per kg) 45 90
Direct Labour
(Rs. 4 per hour) 30 54
Variance overheads 15 24
Total Fixed over heads Rs. 90,000
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Assuming that raw material is the key factor and only
60,000 kgs. of material are available and maximum of
6,000 units of both can be sold. What should be the
production of each of them so that maximum profit can be

obtained.
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